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[T]l.b 2.b 3.b 4.b 5d 6.b 7.c 8b 9.b 10.b
[ 11 ]1. found it difficult to do so 2. want to keep my room tidy

3. Crying of the baby kept me awake 4. one should keep it under control
5. Mary standing there with her hair waving

[II] 1. ® was R% F7-1% was happening 2. @ raised — risen
3. @ communicate — communicate with 4. @ acceptable 5. @ which — where [on which]
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(1) Nuts are not[aren’t] easy to digest.
(2) Being a foreigner was not[wasn’t] a handicap.

(3) The sun does not[doesn’t] go around the earth.

(4) Women did not[didn’t] have the vote in ancient Rome.
(5) The police have not[haven’t] caught the thief.
(6) Visitors cannot[can’t] fish on this side of the river.
(7) Is his car being repaired now?
(8) Did they have a good reason for doing that?
(9) Will she have to make a decision by herself?
(10) What is that book about?
(11) How did he get into the house?
(12) Who attended the meeting?
(13) Why is he allowed to drink?

(1) SVM 2) SVOM (3) SMVOO
(4) SMVC (5) svoc 6) SVOM [#5%&]
(1) % Q) ¥ (3) &l 4) R (5) Al
(6) #h (7) # 8 & 9) &l (10) 4
(1) 4 (12) 4 (13) & (14) 4 (15) &
(16) & (17) 4 (18) (19) #l (20) 4
(21) &l
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